228 A T I

HD 832 i€ ik iA 452 1] 25

LS 1=1N
AR AIENEE , SBEN ARG NRE,

BEBRITERERK ALK , FHTR , REQREREEEETSERIOCK/H | EahUESL 94%—98% ,
SMESE R AMAEIR G S0 , BB AALE | HERERS , SIEERENEEEAED.
HDRZB MG TS | SESEEX GRS E  TEESHEANTEE.

B SEULRLERNIE M ER S .

kP i




. HDEE M iR M BIa MmN A

HD series spiral bevel gear umt

SRR R A AR R ER, HEMERNT:

1. MEERAEANERE, EENARTIHRE
2, grEFRIHERFGIK, REENAK, €HF
W& 51%94%~98%,

MER#EERRALRRBRESEAN, SEREFARLE, HEHERS

BRREEEARXED.
4, HDRJ|#HZEF L F LMK, RBEEX, @
5. ] 5E IR i 0 5 P A AE 3h 7 3K

spiral bevel gear unit,the following is trait:
1 ~

(+]

o, BEREREEETSZI40KAE, £33
, RIEER

HEHEASH, IHRESMEANEE,

the box is hexahedron,which can fit different direction mounting

2. long-lift using and big load,sooth transmission,low noise transmission efficiency can up to 94%-98%
3. spiral bevel gears are made of low carbon alloy steel,through quenching and whetting,come to high precision

rigidity tooth transmission

4, HD serie have seven specs,big choosing range,mult- output shaft mode which meet various situation

5. enhancing and reducing speed

BSRTE

Mode designation
HD AF 11 = 1:2 - D

[

BREASEEK

Connection symbal and form

FEFEKXRMERB Mounting type and turning
f&Zhtk ratio

#m B S Commutator frame size
E#ERSEFK Connection symbal and form

#E KRS Commutator symbal

HD  EN. (R sUBcE
HD coupled of input(output)shaft stretch

HAD SN, %t hsesCakse

HAD coupled of input shaft stretch and output shaft mounting

HDOF I NGEZE. e

HDF coupled of output shaft with input flange

HDAF  THEINEZ=. #tHhae Uk
HDAF input flange. coupled of output shaft mounting




=. EitE

Ratio account

oy WAFRIENT ; : .
= -1 10 b .ﬁ' 10 j
EEtL i N2 LK TR AR, iNF1RhIEE
Ratoi iz Input speed n1

Output speed n2 When i>1 reducing speed,i<1 adding speed

m, BSHEE
Choosing type

1.EBHEAK: (1) PIN=PIXI(B/INREREA KT 207/ hat)
(2) PiN= .2 XPIXf( /B #2148 i 821 ~60:% / /AT )
(3) PIN<PN
‘B ELFUNTFHETFIFRE
X, PINGIRBRINE, PIASHREENER, (AERREYE, PAFRADE,

Calculation formula: (1)Pin=P1Xf(not higher than 20/hour)
(2)Pin=1.2XP1Xf(start 21-60/hour)
(3)PIN<PnN
select power must be lower or equel to fixed power
note:P1n is select power P1 is demand power ,f is service factor, Pn is fixed power.

PRESER ] Using quotiety f

EEhH ﬁa%ﬁga)ﬂa AHFEEE  Loadtype
Driving machine WOkaﬂ hours/day Y55k hi& G nE Wi g
(hour) Uniform load Medium load Heavy load
L 3 0.8 1 1.5
S5 R
A 3~10 1 1.25 1.25
throine
hydre%lic motor 10—24 1.25 1.5 2
3 1:25 1.5 2
Gafgz*:g'ine 3~10 1.5 1.75 2.25
10—24 1.25 2 2.5

f. RNRRZ

thermal power

1.3AThEITE . Pan=PeXfixf2
PaN>P1 (B R4 H)
PGN<P1  (JXL /53 =538 04 )
XA MARERERY, RCAHAEZETIERY, PchHpFIARE, PIATIELREE
W&, PeNAMEISTEARE,

thermal power account: PGN=PaXfixf2
PGN>P1 (nature cooling)
Pan<P1 (fan and oil cooling)
note:surronding temperature coefficient f1,continuous work coefficient f2,commutator
thermal capacity PG,P1:actual need power.PGN:account thermal capacity of commutator

2



>k
4

L

2. IR FE 3 it

surronding temperature coefficient f1

e 10 20 30 40 50
= 8
Cosflicient 1 1.2 1 0.87 0.75 0.64
3. ELZTIERHM2  continuous coefficient f2
Wor Iﬁ: g‘e[?fj‘i cIieL‘F:: f:ﬁu % 1 00 80 60 40 20
f2 1 1.2 1.4 1.6 1.8
HAREP: ( BIREAE] ) thermal capacity PG (nature cooling)
KW
Rt @RS Boxtype
ratio) 09 11 14 17 21 24 28
1~5 4.5 6.5 11 156.5 24 31 44
# A ARME

universal technology norm

1. @R~ 54 GB1095-79, GB1096-79 WM E, BEEE/AE . HIN9, ##JIS9,
2. NP OFLFERFL, MENT.

D=11~13mm 42 FLM3 D >24~30mm H#EFM10
> 13~16mm 12 M5 > 30~38mm 27 M2
>16~21mm  $2FLM6 >38~50mm  HEFLMI6
>21~24mm  SEFLM8 >50~85mm  $EFLM20

3. TESME R RTE PN, Bt 4, FE R AN 28 A VP ROTR AL T, RIS 46 L 3 A o
WNHLATI®EE B,

1.The size of the key and keyway must be accord with GB1095-79, GB1096-79, the tolerance of the
keyway width: shaft N9, wheel JS9.

2.The center of the output and input shaft has screw, the standard as follow:

D=11~13mm screw M3 D>24~30mm screw M10
>13~16mm  screwM5 >30~38mm screw M12
>16~21mm screw M6 >38~50mm screw M16
>21~24mm  screw M8 > 50~85mm screw M20

3.In the diagram of the mouting diemessions, the output shaft can be considered as input shaft if the
speed and torque allowed.

i
Choosing example
B: FEFERSIREh IR HE S iR o) 25
PEHEESSCIREEThERP1=28KW, FBALTNZEEP2=30KW, FEA/L¥EIEN1=2000r/min
fE£Ehtki=2, HrmBEdEmc Iz AD, BRITIE8/\AT, S/NAHEL T/ERE)A
60% /Rt E6R, INEIRE A30C.



TR BERENV AR, PEhEAE, SXIESN, RERZR
f-1.25
ERITHZ . PIN=P1Xf=28x1.25=35kw (£ /\i} #2156.%)
RIFAINE: EMHEEES H21, PN=52.4KW>35kw
AR HiE21 AT ER Pe=24KW
BRIMERERYERE: f1=0.87
BRESTERYER: fo=1.4
PGN=24X0.87X1.4=29 2KW>28KW

EE gD
ERBIS 2. HD21-2D

Example: beateris drived by spiral bevel gear unit
beater actual need powerP1=28KW; moter power P2=30KW, motorspeed n1=2000r/min
ratio i=2, mounting type of commutator D, work 8 hours one day, continuous work
hours of every hour:60%, start stop 6 times/hour, surrounding temperature:30C.

Choosing type: driving machine of beater is motor, medium load, work 8 hours/day,according
to using coefficient table:
f=1.25
choosingtpye power: PIN=P1Xf=28x1.25=35kw(startstop 6 times/hour)
accordingto allowable: choosing boxtpye21, PN=52.4KW>35kw
thermal power: box21,according tothermal capacity form PG=24KW
accordingto surrounding temperature form: f1=0.87
accordingto continuous work coefficient form: f2=1.4
PGN=24X0.87X1.4=29.2KW>28KW

nature coolingisokchoosingtype : HD21-2D

. L. NG ESR R FEINIIZR ratio. input(output)speed and allowable input power

. ] FH1KE S Boxtype
EELL | ﬁi)\%ﬁm %ﬁtﬂ%ﬁnz 00 | 11 | 14 | 17 | 21 | 24 [ 28
rmin r/min AW APy (KW) Allowable input power PN (KW)
2000 2000 7.55 13.8 29.9 49.2 84 111 188
1500 1500 6 1 23.9 39.3 67.5 90.5 156
! 1000 1000 4.3 7.85 17.2 28.8 50.5 68 115
750 750 3.4 6.15 13.4 22.8 40.8 54.5 94.2
2000 1333 5.45 9.7 16.8 33.9 70 92.5 124
1500 1000 4.3 7.75 13.5 27.2 56.5 75.5 103
a8 1000 667 3.05 5.45 9.7 19.6 41.2 55.5 75.5
750 500 2.3 4.25 7.6 15.5 33 44 .5 60.5
2000 1000 4.2 7.95 141 26.2 52.4 71.5 107
1500 750 3.35 6.3 111 20.8 43.2 58.5 88
& 1000 500 2.35 4.45 7.85 14.9 31.4 41.9 64.5
750 375 1.8 3.45 6.2 11.6 25.2 33.8 51
2000 667 2.85 5.6 10.1 18.2 34.9 52.4 73
1500 500 2.2 4.45 7.95 14.4 27.7 41.9 58.5
3 1000 333 15 3.1 5.6 10.1 20 30.2 42.4
750 250 12 2.4 4.4 7.8 15.7 23.6 33.5
2000 500 2.15 3.75 6.8 10.5 23.3 7.7 47 .6
i 1500 375 1.65 2.9 5.3 8.4 18.5 30.2 38.5
1000 250 1.15 2 3.75 5.9 13.4 Pl e 27.5
750 188 0.87 1.55 2.95 4.55 10.4 171 21.7
2000 400 1.4 2.95 5.05 8.05 15.9 28.9 39.4
1500 300 T51 2.35 3.95 6.45 12.7 23.4 31.4
® 1000 200 0.75 1.6 2.75 4.5 9 16.4 22.4
750 150 0.58 1.25 2 3.45 6.95 13 17503

i 1 ZARRENT A REMECh RIS, YHECRIGEA, FRAThEMERNEIEEIE,
2 SN B H RACERER, H5ER1EAR.



HD09-HD28 (i=1~5) BN H 4 Bk 4%
HD 4 & £ R

da(h7)

da(h7)

da(h?)

Ci

Ci

C1

HD09-HD28 (i=1~5) coupled of input (output) shatt stretch
HD outline and mounting dimension

A B
i A —
l p
(]
E| —*
] I © H
@ ¢ E‘ : ?
me 1
TE i 1
: ! : \ § Sl
T LRPARMEE T
Mounting form and rotation direction
e _|__ e
7 _ - _ _c | i _c|E ®[hn i
== |—1 ""'2 —3 —4 —5 |—1"'3 |-4"'5w-h H
=|a |C1|C2|C3|d2|l2|d3| e [&[&2|m|S 2 o
TYPE di|{l1{d1fl1{d1|l1]|d1| 1] d4 | d4 [Kg| L
09|90f12]| 2| 2 |18|35|88|45 |97 |50 |36 |M6|18|35|16 |30 | 11|23 |11|23]| 72 | 62 | 6 0.2
11]110|12 | 2 | 2 |22 |40 [108|55 1712/69 |44 |M8|22|40[20 (|35 (16|30 | 14|25 81 | 72 [10 0.3
14 |140| 75| 2 | 2 |32 |50 [135|70 |757|84 | 55 [M10{32 |50 (26 |45 | 20|35 |16|30| 98 | 81 |20 |0.4
17 170{ 75| 2 | 3 |40 |60 [165]|85 |187,103|67 [M12]|40 |60 |32 |50 | 26|45 |22(40| 118 | 98 |32 | 1
21|210|20 | 2 | 2 |45 |70 [205|105[230|130| 85 |M16]45 |70 |45 | 70|32 |50 | 30|50 128 | 110 |60 | 2
24 |240| 22| 2 | 2 |48 |85 [235[120|280 145| 95 [M16| 48 |85 |48 | 85|38 |55 | 35|55 138 | 120 |75 |2.5
28(280] 22| 2 | 2 |60 [110]275[140|280(160|110|M16]| 60 [110|50 |80 | 45|70 (42| 70| 150 | 135 [115| 3




HDO-HDRB (i=1:1.5,i=1:2) B\ B st B i

7

HD % ¥

da(h7)

dz(j6)

%

* R

HDO3-HD28 (i=1:1.5,i=1:2) coupled of input (output) shatt stretch
HD outline and mounting dimension

Ci

-

da(h?)

-
| @
1 | | 1
Cs Cs
11
e 1, B 53_..!_....'_2_,_1!
C1 L a _y Ci
A B c D E F
I o ot o
v 1nr 1Hr i
s e E el . - =
= =) | - : ;
{ : l %
I .
S S
(ERERXARIEFKSE
Mounting form and rotation direction
Al ‘ i=115 2T
=l.1. Weight | Qil
2|a|C1|C2(C3|di|l1|d3|e | &|&|m | S|d4 r
TYP ! d2“2 !Kg L
09 90|12 | 2 | 2 |18 |35 | 88 | 45 97 59!36 M6 | 72 11‘23 !6 0.2
1111012 | 2 | 2 | 22 |40 |108| 55 |112| 69 | 44 | M8 | 81 | 14 | 25 10 | 0.3
14 |140 15| 2 | 2 | 82 |50 [135| 70 |757 84 | 55 |M10| 98 16 | 30 20 | 0.4
17 |170 15| 2 | 3 | 40 (60 | 165 85 (187 103 67 |M12 118 | 22 | 40 32 | 1
21|210|20| 2 | 2 |45 | 70 205105 230 130| 85 | M16 128 | 45 | 70 60 | 2
|
24 |240 | 22 | 2 | 2 | 55 | 85 |235[120 280|7145| 95 | M16|138 | 48 85 75 | 2.5
28 (280 22| 2 | 2 | 60 [110 |275 140|280 | 160 110 | W16 | 150 | 42 | 70 115 | 3




HDAO9-HDA8 % N {eR, 46 s S Bk i HDAQ3-HDA28 coupld ofinput shaft sretch and output shaft mounting
HD W ¥ % £ R ~F HD outline and mounting dimension

C1

da(h7)
a

|d1(je)
ds

da(h7)
da(h7)

Ca

gy ) I

C1

I E ERBABIEESE

Mounting form and rotation direction

2 & C1[C2(Ca Delds 05 e &g, m § E1-2 (=8 =4 | i=5 13 -5 R R
TYPE d1/11/d1/11/d1/11/d1/ 11| d4 | d4 |Kg L
09|90 |12 2 2 |16 |25 |88 |45 97 59 |36 M6 |18 |35 |16 30 11]23 |11 |23 | 72 | 62 | 6 |0.2
11]110/ 12| 2 | 2 |22 |35 [108 |55 1!112 69 | 44 M8 |22 |40 | 20|35 16|30 |14 |25 | 81 | 72 | 10(0.3
14 140/15 2 | 2 |28 |45 [135|70 :153'87 55 M10|32 | 50 | 26 | 45 |20 |35 |16 |30 | 98 | 81 |20 0.4
17(170/15 | 2 | 3 |38 |55 1165 85 :131'103 67 |M12| 40 |60 | 32 | 50 |26 |45 |22 |40 | 118 | 98 [32] 1
21|210/ 20| 2 | 2 |45 65 205 105:230130i 85 |M16| 45 | 70 4570 |32 |50 |30 |50 | 128 | 110 60 | 2
24 |240 22| 2 | 2 |55 |75 235120 280145 95 W16 48 | 85 48?85 38 |55 |35 |55 | 138 | 120 | 75 2.5
2828022 | 2 | 2 |60 |85 275140 280 160 110 M16| 60 |10 50 |80 | 45|70 |42 |70 | 150 | 135 |115] 3




HDF09-HDF28 1\ i

HD 4 & %

da(h7)

=, B
* R+

da(h7)

d2(js)
=T

da(h7)

HDF09-HDF28 coupled of output shaft with input flange
HD outline and mounting dimension

Ct a _
@
;—15 w©
J Al
sl
ol S
L 71 - EERBARERFE
Mounting form and rotation direction
= i=1~2 i=3~5
=1 a|Ccs D3X 13 D3X I3
09190 12| 2| 88|86 | 18| 35 | 19X43 | 14X33 | 11X26 | 9X23 | 19X43 | 14X33 | 11X26 | 9x23
11[110/ 12| 2 |108| 82 | 22 | 40 | 24X53 | 19X43 | 14X33 | 11X26 | 24X53 | 19X43 | 14X33 | 11X26
14 140/ 12| 2 | 135|104 | 32 | 50 | 38X83 | 28X63 | 24X53 | 19X43 | 28X63 | 24X53 | 19X43 | 14X43
17 /170{ 15| 3 | 165|128 | 40 | 60 | 42X115 | 38X83 | 28X63 | 24X53 | 38X83 | 28X63 | 24X53 | 19X43
21(210/ 18 | 2 | 205|160 | 45 | 70 | 48X115 | 42X115 | 38X83 | 28X63 |42X115 | 38X83 | 28X63 | 24X53
24 24018 | 2 |235(170 | 55 | 85 |55X115 | 48X115 | 42X115| 38X83 |48X115 | 42X115 | 38X83 | 28X63
28 1280| 18 | 2 |275(190 | 60 | 110 | 60X145 | 55X115 | 48X115 | 42X115 | 55X115 | 48X115 | 42X115 | 38X83
5 2 i35 ds/ D| K| st | t|Z
2| e g2 ga h m S 3 = 120| 80 |100| 4xme | 11]3.5
\SEQ 45 |59 [110| 65 | 36 | M6 |200 160|140 |120 200 160140120 ol oo 11te) Mue |1 1dah
11] 55 | 69 [130] 75 | 44 | M8 |200| 160|140 |120 |200 [160|140]120] [ HIO(1%0| 4XW8 |11 4
: 200(130[165| 4XM10 | 14 | 4
14|70 | 84 170100 | 55 | M10|300 250|200(160 300 250 200|160
17|85 103|215 /130 | 67 | M12/350| 300|250 [200 | 350 |300|250| 200 2601180, 215 | -HMI2 | 16 14.5
|eloflev | BF | W _ el . 300|230/265| 4xM12 | 16 | 4.5
21/105/125|245 140 | 85 | M16|350 | 300|250 | — |350 |300|250 | 200 sz loxnlaen | AT | 56 | 8
24 120|140265 [145 | 95 | M16|400 350 300|250 |400 350 300 250 40013001350 | #M16 | 20 | 6
28/140(160(315 175 |110| M16 450 | 400 |350 | 300 | 400 |350|300 450550400 wats | o5 | €




HDAFOO-HDAFB TN IE = , B s Bk
HD M ¥ % % R

HDAF09-HDAF28 coupled of output shaft with input flange
HD outline and mounting dimension

& S e ot | |
0 T
|
g y '
8 o ——- ——a—ll o ¥ %
»} |
! |[_1
E F
|-
of :
|
FRFARIERET [
Mounting form and rotation direction
ol | ' i=1~2 i=3~5
= a|(1/C3/ds d4|D2| ds
VP i Bt _Dax1l3 D3X I3
099012 2| 88 86| 16 | 25 | 19X43 | 14X33 | 11X26 | 9X23 | 19X43 | 14X33 | 11X26 | 9X23
11110/ 12| 2| 108 82 | 22 | 35 | 24X53 | 19X43 | 14X33 | 11X26 | 24X53 | 19X43 | 14X33 | 11X26
1_4__!_140 12| 2 |135/104 | 28 | 45 | 38X83 | 28X63 | 24X53 | 19X43 | 28X63 | 24X53 | 19X43 | 14X33
17 1170/ 15| 3 | 165/128 | 38 | 55 | 42X115 | 38X83 | 28X63 | 24X53 | 38X83 | 28X63 | 24X53 | 19X43
21|210 18| 2 | 205/160 | 45 | 65 | 48X115 | 42X115 | 38X83 | 28X63 | 42X115 | 38X83 | 28X63 | 24X53
24240 18| 2 | 235(170 | 55 | 75 | 55X115 | 48X115 | 42X115| 38X83 |48X115 | 42X115 | 38X83 | 28X63
28 280 18| 2 | 275/190 | 60 | 85 | 60X145 | 55X115 | 48X115| 42X115 | 55X115 | 48X115 | 42X115 | 38X83
= . T2 | i35 de| D| K| s1 [ t|Z
= e|8|& h|Im| s =0 120] 80 [100| axme | 113.5
Y(;EQ 45 | 59 | 110/ 65 | 36 | M6 |200] 160140 12(?300 160(140 120 i Ul L
111 5 30 " : 50 : 160[110/130 | 4XM8 | 11
69 75 | M8 |200 140[120(200 160140 120 2001130] 165 | 4xM10 | 14
14| 70| 84 | 170|100 | 55 | M10|300/ 250 |200| 160|300 250|200 | 160 250l 1801215 | W12 | 16 | 4.5
1785 |103/215/130 | 67 | M12|350 300250 | 200 350[300 250 | 200 a00|2301265 | 2aii2 | 16 4'5
21/105/125|245(140 | 85 | M16(350|300(250 | — | 350 300 | 250 | 200 3501250(300 | #XM16 | 20 é
B e e o e e e 0t 00 5] s ol s [0
‘ : = 450/350/400 | 4xM16 | 25 | 6

9




